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1 TESRERT

KXHERBHIFAEZXFE - PLCET ~ a3 #1720 (MPF - SPF - ... ) B

- OJREEEHEEREAAR - EAEYUERRTHMABEIN ISR - T8
RFE AR - REFIFENESZHRZEANNEMNEEEAEETEE
ERZBHNREINERTZHEREZEETEIE - HREEREW FIUIRRHETE
R - SERRAUIEFNENARSTIE -

HREERFRENAE - MEBRRRATAEIEEPR : =
Bz -
VI EBIABNRZBRERRRMFRNA
0
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2 INBEMEIL

EREERMIER
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3 INEEFEK

31 ZEZGFMRE
- V47

3.2 HAhEEK

« Program SYNC : 6FC5800-0AP05-0YBO (X EH &R
- CP-Basic : 6FC5800-0AM72-0YBO ( B 4 /a

« CP-COMFORT : 6FC5800-0AM73-0YBO ( i&
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4 FEFR

IEHR I INEERIRRAR R EBIEIR KL E - EHEVNRERERERNZZREERE -
EHEWRFENBEAR MREBERNERE -
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5 THEEERE K E L

51 #ZEHXEZL#T : INIT, START, WAITM , WAITE

INIT (n, "xxx” ): BEFELREEEBREN ,n=BBMRE, xx = TENEARE
INIT(2,"MYPROG") : ##Z Channel 2 2 B &+ # MYPROG.
INIT(2,"/_N_WKS_DIR/_N_SHAFT1_WPD/_N_CUT1_MPF")

: ## Channel 2 T# B #& SHAFT1 oAy CUT1.MPF

START(n) : Cycle start i ERIBEZIL n = WiE
$MC_CHAN_NAME[1]= "CHAN_2" : tI5R3@E 2 KIAEE s "CHAN_2 *
START(2) 5 START(CHAN_2) : 7§38}

WAITM (marker-Nr, n, n,
marker-Nr : JE1Z5585 , n =
WAITM( 3,1,2) : 7558}
WAITE (n) : E&EE
A :
#E 1 Pa9E MPF1
N1O INIT(2,"
N11 START(2)

& 2 PR : MPF200.MPF ZB##THEIL T
; Cycle start 138 2 FHIFER

N8O W FHBE LR BE2ER 1 BIEFEENT N —E

N180 WAITM(2,1,2) ;SHEE1H BE2HEE2EETHLENT F—
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N200 WAITE(2)
N201 M30

 FHEE 2NENE

BTV R

BB 2 PET MPF200.MPF A :

N70 WAITM(1,1,2)

N270 WAITM(2,1,2)

N400 M30

FGEE 1 A EE 2ES 1 BIEgEERIT B

EERIT N B

 FHBE 1R BE2WE

BTV R

56K



5.2 FEhEHAZERI : COUPDEF, COUPDEL, COUPON, COUPOF, SPCON
COUPDEF ( <FS>,<LS>,<ZFS>,<NLS>,<block change>, <coupling type>)

<FS> : EZRIRAEF o

<LS> : EHxREIT#

<ZFS>,<NLS> : IREEF #hEA T F e s83REL ( #%A1E: <ZES», <NLS> =1.0

<block change> : EE&1#2 = 5 A AR
"NOC” : 1780
“FINE"  THEAEBEEN
"COARSE" : FEhEIEAZ M ENI
"IPOSTOP” : fIEE<E

<coupling type> : FEAEIHAM A

‘DV" 5L EREH
"‘AV" ER
N

cO S>,<POSFS>,<POSLS>) : BUH = #h = #A
<POSES> : oI EXRIREF IS E N EEUEE A

SPCON(<SP>) : 57 F 8 B3R B 1 Hl U = A1 & 1225
WAITC( <FS>,<block change>,<LS>,<block change>) : &R TIRMA

$BTH



ENEA . RSB TR dETM L
;R T = ]
; BRBEE 8= & 2
NO5 M3 S3000 M2=4 S2=500;5cZ &3\ 3 - 000 rpm hiedd - IREE
; E#L 500 rpm hedE
N10 COUPDEF (S2-S1-1-1-"NOC": "Dv") ;%5

el ; LARRE )

it
#

N70 SPCON ; IR E T BT 2 1 BT
N75SPCON (2) ; REERBEE
N80 COUPON (S2 - S1-45) ; SIRMEE &
2l

5 ERRIEN A

N200 FA[S2]=100
N205 SPOS[2]=I ;5 B 0%E 90°

N210 WAIT - "Fi , E5m_E8 "BREU BD
N212 GI1 X...

N21 (180) ;s _FwinlE/mE) 180°
N220 G FIRSE ST E#=50 B
N225 FA[S2]=0  BEREZEE (MD)

N230 SPOS[2]=IC (-7200 ) ; 5 _Fsn & 77 E 7200°

N350 COUPOF (S2 -S1) ;S1S2EBNFsEUEEER

5B8H



N355 SPOSA[2]=0 ; BEHMEEO0EL
N360 GO X0 YO

N365 WAITS (2) ST 2 UBRE
N370 M5 ;
N375 M30

RIS  BARTEEEE
;B EE= FETH= T
 BIRBEEE= £ 8h 2

NO1 M3 S500 ; SEEEELL 500 r
N02 M2=3 S2=300  IRBEE#

N10 G4 F1 ; FIRRSRE 1

N15 COUPDEF (S2-S1-  BEAGELER D (1

N20 COUPON ( S2 - - NIEEHORECDRE
B B HR A BV RE

(S22 AE M4 EE S 500
RELRE KN 51 55 51
ON #E1TIRPEE BHIZ 05T R RN BN D A

EEH= 81

FEh2
S100 M2=3 S2=200 ; FEEFEL 100 rpm fEdE -
; ERBEEEML 200 rpm heds
N10 G4 F5 JIFERRE=5%
N15 COUPDEF (S2-S1-1) ;FS 2 LS WEIRIER S 1

$9H



N20 COUPON (S2-S1) ; BIRSEIHA 2 Se B B
N10 G4 F5 ; IRMEEBALL 100 rpm HedE

b. £ E—EL COUPONC E/TIRMEE TR ETHIE - RN E B H]
;TEEH= EEEH= EW 1
; IRBEE = £8h 2
NO5 M3 S100 M2=3 S2=200 ; SREE L
; BRBEE B LA

rom feé -

N10 G4 F5
N15 COUPDEF (S2-S1-1)
N20 COUPONC (S2 - S1)

N10 G4 F5 2 21100+200=300 rpm

HENeiE
;(DB380x.DBX5002.4 H7EF )
ON R [E14H

c. RIRME=EE iEs MR C

 IRBEES S2 BREMURIH
;FS 2 LS W 1.0

IR EHR R SE 8 £ i
LRSI =5S2FIEE 15 &
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53 EiRE/E#t])H ( RELEASE - GET - GETD )
—HZEHEH - EREE—EEEPEA - FEFHANAZEEMEARR
wmEzEHYg (A THEaR® ) AIRERIESHYREEE{E
- ERHEREREREREN

M EER

FERIREREEMA - EREMEFMRERN - HWAE
SENFEREY  SEEF—EETH  WEREMSE -
IR -
AEA

RELEASE ( axis name - axis name - ...)

EASE (
GET ( axis name - axis name - ... ) 3¢ GE

GETD ( axis name - axis name - ...) 3¢ GET 3)

RELEASE ( #h#278 - #8H AR AR (B )

D AT ()

EFEVERE ()

D MR . RAPRVERE ¢ AXL
D AX2 LB E I B R

D B EBSL S22

GET (S D ERFESLS2- .

GETD (S3) D BRI E#HSLS2 .
Ean el

INIT (2 "TRANSFER2") JEEE 2 PiEERE D TRANSFER2 -
N... START (2) EBE 2 PREET -

B1HE



N... GET (AX2) ; R AR AX2 -

N... RELEASE ( AX2) ; R REARER AX2 -
N... WAITM (1-1:.2) ; SERE 1A 2 PRy WAIT
FAc 1 - AREMEEE FEL
 EERIE R 2 BOE MR

N... M30

$12H



54 fER#FES ( TRAILON - TRAILOF)
A
TRAILON ( <following axis>,<leading axis> - <coupling factor> )

; BN AR S ENTF

TRAILOF(<following axis> - <leading axis> - <leading axis 2>,

; BUBRS S 8hELF
TRAILOF(<following axis>) ; BUHB & BHiE(F
A B

<leading axis>  FEEZMTH

<following axis> ; BR BB EH

<coupling factor>

A
N100 TRAILON(VY)

N120 GO Z1 ; IRE 7 B miEE)
N130 GO Y2 V BREARERE Y B[R S [ &)
N2 S VEHEERRY Y MEBC VHRER

TRAILOF(VY)  BUBSE— B S E PR
TRAILOF(W,Z)  BUBSS B e e FREE

$B13H



5.5 FE#&t/H] BALANCE CUTTING
15 A Stock removal
Calling up the cycle

Precondition
® "programSYNC" option ,
NC/WKS/3/SHAFT.JOB !
i '

| SHAFT 1

R Program header B
- u-mw&umm-_lm

\s 1Contour CONT{
'%,,g]smdzrmmal v T=ROUGHIN
== End of group

£ End of program

Total time:

)

Channel 1 Stock removal 27

DCH & 0 B4 BALANCE ing

NC/WUKS/3/SHAFT _1 Stock removal
Input Complete
; § ROUGHING_T88 A D1
= 8.266 mm/rev
U 136.8880 m/min
Machining 7 2 CHAN
Leading channel
DCH 0.000
Longitudinal
Qutside =
D 3l & &=
UX 0.260
uz 8.160
DI 8.060
BL Cylinder
XD 50.600 abs
2D 6.866 abs
Relief cuts No
Limit No

145



Channel 2 Stock removal EZE T
a. Roughing with 2 channels

b. Second channel follow with channel 1

NC/WKS/3/SHAFT_2 Stock removal

Input Complete
T  ROUGHING_Tg6 A D1

v 2 CHAN
Folou. channel

h

155



6 FER#H

6.1 HTTPS://WWW.YOUTUBE.COM/WATCH?V=LBROXLN63WU
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